[l CTX®-Rohr
Druckverlustdiagramm fur Warmwasserheizungen 60YC

Massenstrom m (kg/h)

3000 %% f /
ARV S
/ @ i égg N

1000 of /7 \/

900 / NN s\ / N
800 b / NN / Ji /] A /
200 / NG R NN /
600 / j:/ N : 5. NN/ N
N SN YO
NS SR
: SEN U/
S 300 5 & o

by nt
O

< 22x, >
>8]
5
2o
1.5
74@ %

7N 5 \Z 1
200 < V(/ T oM
/ 5

= 7< [ ;\/ 70;
/%% c
100 \[ /

e
<

g o IR TR AN AN S BN X

- EEEHEY| 88 SO NI,

S ol o/ S LN N N

5 o1 & /S ARRRRD\ ViR
N[

o/

40 /
30

%/41/ % %7%

15 /
10 15 20 30 50 100 500 1000 5000 10000 20000

10 /
Massenstrom m (kg/h)

B s =

— > ~C T~
>

<

\ T
s
54

\\ﬁt\
—
T~
<&
<

~

><

85






